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Part-B HFT-9

What are the causes of tension between the centre and the
states ? Discuss it. _ 16

% SR U1 & 9 a1 B 91 FROT E ? A el 16

Discuss the Electoral Reforms made by Indian Government in

recent time. 16
T P g9 § ARG AR & R T g gawt & ot
HifoTT | 16
Describe the various problems faced by political parties in
India. 16
AR # TGS G & @ o A Rt et &
oI T | 16

Define communalism. How it effects the politicsinIndia? 16
HPHEAHA H ARG H | 78 ARG F [ A& OB

gefad et & ? 16
Part-C HIFT-9
Short answer type questions : 4x4=16
oY ITHD U9 4x4=16
(a) Regional political party
&= [T &t

(b) President - A Rubber Stamp
TsEafey - TF W A
(¢) Meaningof Judicial Review

it g H o

(d) Linguism inIndian Politics

A ot § ATrars
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b »__. d A 3 v
10. Objective type Questions : 2x8=16
RIS TPR F 4T 2x8=16
(i) What is the tenure of Chief Minister of Indian States ?
(a) 5years (b) 6years
(c) 4years (d) 3 years
AR T % JEAHA 1 HEH B el & ?
(a1) 5 ad (3) 6 ad
(q) 4 ad @) 3 af
(ii) Indiais one of the following State.
(@) Hidnu (b) Muslim
(c) Sikh (d) Secular
a1 & & o T R
() o (@) e
() R (7) da Frues
(i) Who is the head of the union council of minister
(a) VicePresident (b) President
(c) Prime Minister (d) None ofthe above
F1 wIRE P gRear B 7
(o) Sy (a)
(|) gerE=h (3) Swm & & B5 &
(iv) What is the Election symbol of Congress party of India.
(a) Elephant (b) Watch
(¢) Hand (d) Lotus
AR T FHidE H g s 71 8 7
(s1) el () =
(®) &= () = 1 g
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